AsﬁWEg&UZNV7®:¥W(mmEW)

Bl TEBYET, (Wb H &07\“/7@#% T TS E E T, TR TSV, )

- FE5E BB (P 7E & ) BTt

I s (s o s 2w a4 b

(*%*%M\iKWa-E%w%é AU EUNET, FIA— D — B TR AV, B Aol B, HIEEOTETT,) T RREHPIESL o AR oTa X
(20225 6B] #E-—EX BEEHE 202 £ 5 A 28 A EBREBHAFI 83253
TEL:026—256—9677
X OFEIAE I, BRVENH DA TR A— /LI, info@tkc—g.jp FTITHAELITZEN, [20224 6H] <~_—¥ 1> FAX:026—256—0688
F5E R RYDiERA/ ) B R e LN T B A —ERE (A ) L o
(%ﬂ)}bﬁ_‘ il §g° | e | ERER | R | RHER O & Rkwes| movh | KRMR | HE fEEH K, O <ONIFRREREREZRL TWET,
5 | # 7% |PAN—h77A4#—V FRY |IFE2MERA| 2] 319.6 | 1.00 [HpES 0ml| 3&1&4&2 #IE1=65.0% " 3 300 ([~] <WFE>3R=65.0% (%X EF=—Bik=2ME %)
2[E 1y MY (R | (B AE)—=2[E]) &1&10 kfE=100.0% 10 | 1,000 <GE > 3R=35.0% (Hp4E=0/m])
XAV =38 CEES CRVIRE G T) |[45X@)] (208 1Ey])
28 N=65% <Al H > B2 >10R=100.0% (2101 H 24 0k E)
@ili A 1 =I5 ME=72% <o[Al F ><HF4E> 10R=72.0% ([ FEF2—BRfk= 2R )
O =THTHMER @TERI =7/l @TREW) =5V GEF>10R=28.0% (M RHF4E=0/A])
O D=4l - (XK@ =217 @TEF=—ELIH] @ISV HR= (HKD)1/1.0 A FTHR[#8 FIGHTER BATTLE]IZ. 1,0001# X 2[a] jo> 1t yh
#UH{R&D PV 22— — =—3 RCY3|1fi2fERA| 8| 319.68 [ 1.00 — 0 3&1&4&5 91E1=60.9% 3 330 [[~Y] <Hr%i>6R=60.9% (BE=1[a])
1E| &l1&I11 kfe=92.6% | 10 6 660 GE % >6R=39.1% (IKpAE=0[H])
Y =3{g CETES 9 990 |[EBFa—] <HFiE>3R=67.7% (H4E=1[a]) -9R=24.9% (H§%E=1H])
@i A L= 72 A\=60.9% CXVIREETe) Gl >3R=7.4% (FpE=0[a])
O =THThit @TRI=7L @IREH =5y HERE=92.6% KX QBT 2 — | ORI
O HH D=4l - (XK@ =018 @TEF2—ELIH] @ISV HER=(HKD)1/1.0
T |PHEWFEA MIAULY  |IFEFEIRA| 4 219.9| 9.9 | 100 [A]l 3&1&4 #J1E1=100.0% 3 300 |[~Y] <1GH#E>3R=0.5% (HEE=100[a] & BHhEI1/1]~)
FRpJ 22 Y (FHEE=1/1) H;@qn 70 [A] &1&10 Ak#5E=100.0% 0 5 500 R 3R=99.5% (IF4H=70[E])
| 50 A3~y =11& CEES 7 700 [[#EF2—] <1G#E>3R=48.5% *5R=12.0% *7R=8.0% +10R=20.0%
(e 4 2] Wikt | 659 [mIALR 0=118 :%\"/\:50.8% 10 {1,000 (&C, [RERI=100E] ) - X BIFER1/1 ] Hkige)
Wiz | 100 [A] HERE=90.8% (X%VIRZ S Te) <HHHE>3R=11.5% (HE5E=50[a])
@5 = fHTHMHE) @Bk =72l @IREH) =bb
QU TR D=4 | - THFN@ =418 @IETF =—EWi{t) @IV ER= (LEF)1/99.9- #HD)1/1.0
A—— |PEATIRZ MQ IHE2fiiR S| | 199.8 | 2.999 N 1E| 1&1&9&7 | #IE=100.0%| k7 [ F4 | 420 |[~Y] <E%>4R=90.0% (THE=1[A]))
WRFJ 2 5[ 1&1&15&10 | A##5i=100.0% V1+ k1| 205 RFEL>AR=10.0% (MBFAE=5[R]) + [ %R EE=3nl))
(3554 1] HIb#& 599 [E[3%¢~Y =11 ED T 10 (100+135)| [ F2—] <H#4>2R or 6R ([HE4E=5[E] | + [FE{f-58=3[E]])
peai | 100 FK EAT=150 | 22A=10.0% | £ 7 [vi+Lks| 625 Vi1 (1/3.04) =2R] - TR0 (1/199.8) =6R)
@ =HTHIE @THRI=72L @IREHI=5Y MTVAT=108 | M#i=96.1% (100+525) MTET o — R =3 ) 12 k0, R3S + 3]
QR XD =418] - HX@=3ME) @IEF=—MEib) @I/4Y k= (X ©)1/3.045 (3% VIR=1001# )
SANKYO |PH#H D7 775 — TH2RERA| | 99.9 | 2.0 . 0 1&1&7 wE=100% | F10| 8 | 480 |[#7249](%11/99.91 X [1/5.128/=1/512.3] THK41)
HEZS3800 A BB AE| MV AEE=19.5% 10,000 |  1&6&15 HfE=50.0% | T9 |VI+T9]1,275 CPREEVFYL Y > B8R+ (TVIRHTFIR] X 2[8]) =3,0301H (K7
3[EVIvh [PEEHEFE=1/512.3 X~V =11A CEE> (R EVIRZETe) [[Mke] G T1/2) TR YVHkR)
@il 1 1= J L | ¥ EVAT=6M | 22A=19.5% B D TVIRE IR X 3[H1=3,825( CXASE 1)

@i =

@R T FX D=

IHTHERR) @NERI =72 @RS
MO=1ME) @IEF=—1&

=Y

X TAT=15&

JeiEib) @IV = (FFX©)1/2.0

HkA5E=50.0%




X RPN, RRVERH DS TR AV, info@tke—g.jp TTTHELTZEY, [20224F 6H] <~<—2 2>
F5EH R KLDFERA/ ) AR e ZE AR 7571 —PERE(EA ) v S
o) A > [w s | | RE | e | & Aot 7o | KR | HE S oE O OPIRERERL CE T
50 | BNEE |Paxva~v{BEE Z/AST | ] 199.8 | 49.9 | STH 50 [\l 3&3&1&5 | #IIEI=100.0% 3 300 ([~ (FRO) ] [EF2— RO LE
with A% L3 | (ST=50) ST#% 50 Al &1&10 | MEE=100.0%| 10 5 | 500 <75 >3R=25.0% +5R=25.0% * 10R=50.0%
S Pkl (5441 Ak 500 [H]| 3%~ =3 & 3E CEED 10 | 1,000 (%4, IST=50[=] )+ H4E500=])
@ [ AN AT — (5752 759 [H] 2% A\=100.0%
O E = LT HHE:) @TiERI =72l @IREH) =741 MHE=T1.7%
O HHD=4H] - (XK@ =417 @IEF2—ELIH] @ISV fER=/"L
Pa~ o HEEH ZLST |4 99.9 [ 209 | STH 100 1&1&1&7 | #IIE=100.0% 5 400 |[~Y (FHD) 1-[EF2— (FRO] 8@
with A4 vi1 | (ST=10) 15 ] &1&8 HkfE=100.0% 10 10 | 800 <HfEZE>5R=33.0% (TST=10[m]] 4 M4E15M] )
8l {R B STi% 40 [EPRAY=1& 18 | <="> <filEZ5>5R=33.0% (ST=10[ul] + 4400 )
90 [1] 22 A=100.0% <HEZE>10R=34.0% (TST=10[] | + [H#4E90[H] )
) (s 4 2] «;:ME@% 265 [A] hAoi=60.7%
@i R = A NAEY — RS 379 [A]
OFFE =i HHE: @NiERI =72l @IRZEH) =7/l
O HRD=41H) - @ =41f] @ITEF=—MkiHL] @/ YD IfER=7/1
K—HER (PHAHRIIZE - FIER4 Z/AST |[#] 199.8 | 55.1 | ST 70 [\l 2&2&1&3 | #I[EI=100.0% 2 240 [[~Y]  <HfEZ5>4R=69.5% +10R=23.5% (4=, [ST=70[=]})
(FHERE) KH—JF | (ST=70) - 0 [a] 1&12 Hk5=100.0% | 10 4 | 480 75 >2R=2.5% ~4R=1.0% - 10R=3.5%
S A7 9,930 [H]| 3%~ =2 & 2{H CEES 10 [1,200 (3%4T, IST=70[8] + [ K#479,930[H])
@il A b= (=B INCTR N ) 22 A=100.0% [~ 22— IR RIO) & FHH@ ) OGH I EERDET,
@i i [ oA N AT — | fkA5E=74.5% [EF=—] <HEZ5>4R=46.0% +10R=46.0% (4T, [ST=70[H]])
O =THTHMAE @TERI =721 @TRZEH) =5V <75 >2R=2.0% +4R=1.0% - 10R=5.0%
O NEFXDO=418] - @ =48] @TET=—#kil ] @/ 40 fesR=721 (3%4T, IST=70[a] J+K#479,930[=])
Za—FU|PHSRVH VHEREZS || 129.77 | 40.0 | FeZth wEl 1&1&4 WIEI=2.0% 6 2 120 |[~V] <HEZ5>4R=2.0% (/NY4WRUSHZEA)
(J1-2EL) N-Z YT350 |/IN4RUSH S 0 &1&1&10 | #kk7=80.0% 4 240 GEHAR=98.0% (FRFAZ=70[R]) 3¢ [FFXI @ Fa—filiigk | ~
7 J 28 i 70 [E3A~Y = 1# CEED [F 4] <HeZs>2R=80.0% (/>4 VRUSHAkRE)
(51 ] ks 350 A EBFa—=1A | Z2A=42.2% G >2R=20.0% (FpfE=0[q])
BEAA | 490 [RIRARQS=1M8 | Mk#=80.0% lmfER T ORI E MY (=20.0%) 1%, [HERE=0[=] |,
| S HEReRe | D VR H 24 (=20.0%) 1, TRFRE=T00E1) kL,
@5 =T H A @RI =Y U 4YRUSH) @RS =hHY e [Fe2s ] = [/ VRUSHH ] o0 24 0 iingei,
O HH D=4 - (XK@ =118 @IEF2—ELIH] @ISV HER= (FHKD)1/1.17 MRERIQET 2~ &[4 FRIK@AE N ) Thiik,
= B |PU7TARIT-Z2 V3A VR FER A 48] 99.9 | 4.3 1| 2&1&4 WIE=100.0% | =10 | B 5] 300 [[~Y] <HEDE 1E5R=98.0% (HEEE=1[R+{£EE1[H)
()1-2E0) (&R AET ¥ — EkkVer.) | 2 BEHERUSH ek 7H| &1&6&7 | Mki=100.0% 10 T3 | 210 IR _5R=2.0% (RpAE=T7[0]+{%F 11a])
9 [E3%~Y =28 CEE> T 10 | 700 |[EF2—] K@) <Hpk>3R=89.9% (HEjH=7[E]+{# 5 1[H])
128 [B]) 3¢ VAT=6/8 2% \=42.0% CRVIRG Te) FEEI>10R=5.7% (KFAT=9EI+{%-5Z 1/A])
(FEORE+1E]) [ FAT=7M8 Hk#i1=88.0% <HEEE>10R=4.4% (HpfE=128[a+{% 44 1/8])
(54 2] W% 299 [1] kfE2=92.9% S @AER T O [ 10R 49 (10.1%) 1id, [HEE7HI=9[E] 1279 7",
@5 = LT H A A 128 [A] S TRFRI=128+1[E1HA ) 13, FE NKEYY ) &85,
ORI =71 @REW | =H) @REFHO=4E] - HXO=110] @EF=—HEWHL @4V fR= (KX D)1/4.5 MAEF 2R UEICEY, R RE T I T+ 10




X PSR BBV ENHLIEE . TR A— VT, info@tke—g.jp FTIEAEL I, [20224F 6] <~<— 3>

%52 H et KREVFERQ/ ) AR [ ZEAHR 7 51— MERE(HA ) v .
wsm)| P P 17 [ amne | e ] WE | W BBk & st ot [ R | A B X, O OPNERREEREEZRL TOET,
5 | 88 E [PATFVAXR TV 4H£| 99.9 | 69.7 —— 70+ | 1&1&4&5 | #IE=100.0% 0 4 400 |[~Y] <eZ2>4R=90.0% (FEHHTT0M[E+ 0, =81.0%) * [120[E+ o =9.0%)
KR A REIE3 GSA | g AEE=1/6T 120+« &1&10 Hkf5E=100.0% 10 | 1,000 <FfEZE>10R=10.0% (FEYH T70[E+ 0. =9.0% « [120[E]+ o =1.0%)
clifid {cHERI=1/2621.4>| chefE 70 [B] 3%~ = 1@ CEED [FBF2— <2 >4R=80.0% (FEHKT70[E+ o =48.0%] + [120[E]+ o =32.0%)
@i (L= | | 52 A=67.5% CHEZE>10R=20.0% (FEHATTOMM o =12.0%) + [ 120[]+ o =8.0%)
@ H =B @RI =72L @IREW =5V AkAE=T71.2% SEIR O+ o 1%, [HEPE R Y8 E T BV Rk L e ET,
QR FHHD =4 - [HX@ =41 @IEF=—Eilk) @/ YV fER=7L
#UHIR&D |PAIMF V2 —— ZNAST || 77.74 | 51.84 | STH 32 @ 1&1&2&3 | #IE=100.0% 3 270 [[~Y]  <H#Z5>3R=99.0% (ST=32[H])
()1-ATHER) SN=—3 NCY | (ST=32) - 0 [l 1&10 HEfE=100.0% | 10 4 | 360 CeZE>10R=1.0% (TST=32[ | + F4E=50[a] )
50 @[3~y =118 CEIES 10 | 900 [[FEFa—] <HeZ5>4R=90.0% ([ST=32[71] + [HEEE=50[7]])
. k% 200 [m] 7% A\=100.0% <5 >10R=10.0% ([ST=32[A] | + Hp4E=50[a] )
CLiZEEN |
R 295 [] hAoi=71.9%
O =Bk @NERI =72l @REH=5H) @EEHEXO=4M)  FXQ=4() @IEF2—ELiHl] @ISV HrR=/L
125 | L [ | | | L [ [ |
190 | =LKy |PES%HRUSH A V2R A 4H%E| 110.3 | 25.3 0 1&1&4 HIEI=50.0% 3 330 [[~Y] <H#EED>E3R=50.0% (KpdE=/NY40ET)
( PES+HRUSH Jr.117) clREAT (~¥0=1/117.2) | BppEH 1Al &3&1&I11 | HkiE=63.5% \{.190 V1+TF3| 339 <BESE>TE.3R=50.0% (BffE=1[nl+7R % B 4(0])
(cHp4E=1/1,875) 7 Al CEED VI+T9| 999 |[EF2— <D E3R=0.5% (Kifti=/N 40 ETHXAVT(=T(HETE)
(41 1] Mkt 300 [|] 22 A=58.0% [CXTVIR=9MH | ZE1r) <HFEDE3R=21.0% (RpfE=/N40ET)
BEAE R RUSHZEA Ak#5E=83.0% HFRD FVI+ T 3R=28.0% (BfH=/N40ET)
O =1iThiti) @RI =721 @IREH) =bb (RO ) D FVI+TFIR=14.0% (Hpd=/\ 40 ETC)
O D=4 - [RX@ =4 @TEF=—H4iik) @4y k= (@) 1/32.3 <EHRLEI=HI45%> Gl A AT = 36.5% (% VA T+3R24 1)
PELI v HRUSH A2 RS 41&| 110.3 | 25.3 0 1&1&5 H1IE1=50.0% 3 330 [[~V] <HE>E3R=50.0% (KefE=/NY40ET)
(PELL ¢ HRUSH Jr.117 A2) |  cHE (~%0=1/117.2) |WHsEF 1A &3&1&11 | Hkki=65.5% %190 VI+F3| 339 <IRFRT>TEL3R=50.0% (HpkE=1[m]+7% (528 4[]
(cH§sE=1/1,875) W [A] R VI+T9| 999 |[EF2—]<HiE > E3R=0.5% (FEfE=/]N 40 ETHAVTA=T(18TH)
22 A=58.0% |CXIVIR=9f &5 Tr) PR 3R=21.0% (MpfE=/N40ET)
@i A L= ’ k#oi=84.3% <HEEE> FVI+TF3R=30.0% (BfE=/N40ET)
O =THThit @TRI=7L @RAH =5y (K TE E) CHFED FV1+ FIR=14.0% (Fif=/\40EC)
O XD =41 - [HHO=4(H) @THF=—H5EL) @YY HEE=(FH@)1/32.3 KBHI=H145%> Gl TR IR = 34.5% (¥ VA E C+3R%M )
TLTYIA |POEA—H5 HIYX6 VHEST || 99.9 | 68.9 |[#ZF| 100 A 1&1&4&S8 #1E1=50.0% 2 200 [[~V] <FEZ>2R=20.0% +4R=25.0% +10R=5.0% (FEH#& ST=100[7])
(ST=100) S 1 50 | &1&1&1&10 | fkii=100.0%| 10 4 | 400 GE>AR=50.0% (HF4E=50a])
2 B e A KAV =118 CEE 10 | 1,000 [[EF2—] (FRD) <FEZE>2R=20.0% (FBEHH'ST=100[a]) ErOHindeHk:
KEF2—=D | 2A=H66% | CRVIRO AERE L) S >4R=25.0% + 10R=5.0%
XIREIN=1FQ | Mkfe=1I78% (BAK ST=100[r]) 3RO g (U 5 e 2 ~
@i A L=l X EAT=18 |GERER4EE) GEH>4R=50.0% (KffE=100[a])
@ =HITHTHE @R =72l @IRES) =HY X TAT=10& [#15] (@) <25 >4R=50.0% +10R=50.0% (FEH & ST=100[=])
Q@A XD =41 - HEXQ=4{H) @IEF=—HSiH(k) @T/N4V e =M (HER MO VIV Y YRUSH)  [ESHEZE ]I, FrOfhiE (KLS) Mk, % [/NYURUSH 1RV,
26 H




E1)



